Homework:  5.3 Solving Logarithms and Natural Logs		Algebra 2					Kitt
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In exercises | to 20, solve each logarithmic equation for x.
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log,x=3

L log (x +1)=2
. log, x + log, 8 =6
. log;x —log, 6 =3

. log, x + log, (x +2) = 3

log; (x + 1) + log; (x = $) = 1
logx — log(x—2) =1
log,(x + 1) —logy (x —2) =2
log (x +5) — log (x —2) = log 5

log, (x* = 1) = log, x —2) = 3
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log, x = -2

L logs(2x—1)=2
. log 5 + logx =2

. log,x — log,8 =3

log, x + log, (2x + 3) =2
log, (x + 2) + log, (x — 5) =3
logs (x + 5) — logs x = 2

log (x +2) — log 2x — ) = 1

. log; (x + 12) — log, (x — 3) = log, 6

log (2 + 1) — log (x — 2) =




